

**November 4, 2021** 

## Invoice 21-57 #1 - Analysis of Field Services

Joshua Young Deputy SVP of Justice Services Center for Policing Equity 1925 Century Park Esat, #1700 Los Angeles, CA 90067

This 1st invoice is for work conducted in October for the Analysis of Field Services for the Ithaca Police Department. Work conducted includes project initiation meetings with the Police Department and the Center for Policing Equity, data collection and initial analysis.

Team Member	Title	Hours	Rate	Amount	
Richard Brady	President	8	\$200	\$	1,600
lan Brady	Vice President	24	\$160	\$	3,840
Ryan Peterson	Consultant	16	\$140	\$	2,240
Total				\$	7,680
TOTAL INVOICE				\$	7,680

Federal Taxpayer ID: 05-0545979



December 15, 2021

## Invoice 21-57 #2 - Analysis of Field Services

Joshua Young Deputy SVP of Justice Services Center for Policing Equity 1925 Century Park Esat, #1700 Los Angeles, CA 90067

This 2nd invoice is for work conducted in November for the Analysis of Field Services for the Ithaca Police Department. Work conducted includes analysis of patrol workloads and staffing needs, beginning the development of the draft report and review meetings.

Team Member	Title	Hours	Rate	Amount	
Richard Brady	President	8	\$200	\$	1,600
lan Brady	Vice President	72	\$160	\$	11,520
Ryan Peterson	Consultant	16	\$140	\$	2,240
Total				\$	15,360
TOTAL INVOICE				\$	15,360

Federal Taxpayer ID: 05-0545979



January 14, 2022

## Invoice 21-57 # 3- Analysis of Field Services

Joshua Young Deputy SVP of Justice Services Center for Policing Equity 1925 Century Park Esat, #1700 Los Angeles, CA 90067

This 3rd invoice is for work conducted in November for the Analysis of Field Services for the Ithaca Police Department. Work conducted includes development of the draft report and review meetings.

<b>Team Member</b>	Title	Hours	Rate	Amount	
Richard Brady	President	12	\$200	\$	2,400
lan Brady	Vice President	64	\$160	\$	10,240
Ryan Peterson	Consultant	16	\$140	\$	2,240
Total				\$	14,880
TOTAL INVOICE				\$	14,880

Federal Taxpayer ID: 05-0545979



February 18, 2022

## Invoice 21-57 # 4 Final – Analysis of Field Services

Joshua Young Deputy SVP of Justice Services Center for Policing Equity 1925 Century Park Esat, #1700 Los Angeles, CA 90067

This 4th and final invoice is for work conducted in November for the Analysis of Field Services for the Ithaca Police Department. Work conducted includes reviews and revisions in the development of the final report.

<b>Team Member</b>	Title	Hours	Rate	Amount	
Richard Brady	President	4	\$200	\$	800
lan Brady	Vice President	46	\$160	\$	7,360
Ryan Peterson	Consultant	10	\$140	\$	1,400
Total				\$	9,560
TOTAL INVOICE				\$	9,560

Federal Taxpayer ID: 05-0545979